Fax Page 1 of 4



Sales Tax Exemption

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order					
Purchase Order Date PO/Reference No. Revision No.					
Aug 27, 2019	AB0476212	0			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number
ctd - Douglas, Corey	ctdouglas@pvamu.edu	936.261.1935
Customer Contact:		

Name: Lynn Smith

LMSMITH@PVAMU.EDU Email:

Phone:

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: http://www.pvamu.edu/pdsv/wpcontent/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf

Supp	lier Information	Delivery Information			
Supplier Name	FACILITY INTERIORS INC	Delivery Address			
Address	6801 PORTWEST DR STE 100	TAMUS Member:	05-Prairie View A&M University (05)		
	HOUSTON, TX 77024 US	Attn:	Lynn Smith		
Phone	+1 713-622-1196	College Admin-Education			
Fax	+1 713-585-7800	c/o Central Receiving			
FOB / FREIGHT	Destination	Warehouse			
Pre-Pay & Add	No	Room	Delco 321		
Payment Terms	0, Net 30	1178 Reda Bland Evans St			
Contract Number - Header	Choice Partners 15/031CG-08	MS 2400			
	,	Prairie View, TX 77446			
Contract Number - Line	no value	United States			
Quote number		Delivery Information			
		Required Delivery Date			
		Ship Via	Best Carrier-Best Way		

Notes to Supplier

Shipping Instructions

Attachments for supplier

PVAMU_DELCO 317A_...

PO Clauses

Header Neither COD nor "Collect" freight or handling charges will be accepted. 001 No Collect Freight

Charges Accepted

Product Description Catalog No. Quantity Fax Page 2 of 4

Line No.			Size / Packaging	Unit Price		Ext. Price
1 of 32	STRASSA,30DX60WX41H,WORK TABLE,NO	86N306041WKN1L	EA	1,512.90 USD	1 EA	1,512.90 USD
2 of 32	DITTO,BAR STOOL	N36SM	EA	174.15 USD	7 EA	1,219.05 USD
3 of 32	WAVEWORKS,36DX72W,SURFACE,EXT	WW3672WSCEDRL2	EA	466.20 USD	1 EA	466.20 USD
4 of 32	WAVEWORKS,24DX36W,SURFACE,RECT,VERT	WW2436WSSVDL	EA	108.45 USD	1 EA	108.45 USD
5 of 32	BASE SUPPORT,FOR 24DX72WX72W TOPS,ADJ	CBV7272ALBEB	EA	1,463.85 USD	1 EA	1,463.85 USD
6 of 32	WAVEWORKS,24DX66W,SURFACE,RECTANGULAR,HPL	WW2466WSSDL	EA	174.15 USD	1 EA	174.15 USD
7 of 32	WAVEWORKS,23DX15W,PEDESTAL,BOX/BOX/FILE,UNDERSURFACE,LA M	WW2315PUBBFL	EA	326.25 USD	1 EA	326.25 USD
8 of 32	WAVEWORKS,66WX27H,MODESTYPANEL,FULL,LAMINATE	WW6627MPL	EA	119.70 USD	1 EA	119.70 USD
9 of 32	WAVEWORKS,23DX28H,END PANEL,LAMINATE	WW2328EPL	EA	107.55 USD	1 EA	107.55 USD
10 of 32	WAVEWORKS,18DX60W,SURFACE,RECTANGULAR,HPL	WW1860WSSDL	EA	153.45 USD	2 EA	306.90 USD
11 of 32	WAVEWORKS,17DX30WX22H,PEDESTAL,BOX/LF,UNDERSURFACE,LAMI NATE	WW173022PUBLL	EA	359.55 USD	4 EA	1,438.20 USD
12 of 32	ACCESSORIES,18DX60W,CUSHION	NAC1860CUSH	EA	292.95 USD	2 EA	585.90 USD
13 of 32	WAVEWORKS,60WX21H,MODESTYPANEL,LAMINATE	WW6021MPL	EA	82.80 USD	2 EA	165.60 USD
14 of 32	WAVEWORKS,18DX36W,LATERALFILE,FREESTANDING,FOUR DWR,ME TAL	WW1836LFF4M	EA	530.55 USD	2 EA	1,061.10 USD

Fax Page 3 of 4

15 of	WAVEWORKS,COUNTERWEIGHT,LATERAL FILE	WW36CW2M	EA	67.95	2 EA	135.90
32				USD		USD
16 of 32	EXHIBIT, MOUNTING BRACKET	11NBRS	EA	5.85 USD	6 EA	35.10 USD
	ı					
17 of 32	EXHIBIT,72W EXTRUSION W/FACEPLATE,SETOF 2	11N72EXFP2	EA	119.25 USD	1 EA	119.25 USD
18 of 32	EXHIBIT,144W EXTRUSION W/FACEPLATE,SETOF 2	11N144EXFP2	EA	171.00 USD	2 EA	342.00 USD
J2				03D		03D
19 of 32	EXHIBIT,37H END TRIM,TACKBOARD	11N37ETP	EA	32.85 USD	2 EA	65.70 USD
20 of 32	EXHIBIT,30WX34H TACK BOARD	11N3034TB	EA	120.60 USD	1 EA	120.60 USD
-				332		002
21 of 32	EXHIBIT,36WX34H TACK BOARD	11N3634TB	EA	123.75 USD	5 EA	618.75 USD
			1			
22 of 32	EXHIBIT,36WX34H SLAT WALL	11N3634SW	EA	558.45 USD	3 EA	1,675.35 USD
23 of 32	WAVEWORKS,36WX18H,OVERHEAD,OPEN,EXHIBIT MOUNT,LAMINATE	WW3618SOETL	EA	307.35 USD	4 EA	1,229.40 USD
	1		J			
24 of 32	WAVEWORKS,18DX90W,SURFACE,RECTANGULAR,HPL	WW1890WSSDL	EA	252.90 USD	2 EA	505.80 USD
25 of	WAVEWORKS,18DX72W,SURFACE,RECTANGULAR,HPL	WW1872WSSDL	EA	192.15	1 EA	192.15
32	WWW. WORKS, 1997/2007/2007/CE, RECTANGOLINGTHE	WW1072W33DL	LA	USD	1 17	USD
26 of 32	WAVEWORKS,18DX42W,SURFACE,RECTANGULAR,HPL	WW1842WSSDL	EA	128.70 USD	1 EA	128.70 USD
27 of 32	ACCESSORIES,48W,UNDERSURFACE SUPPORTRAIL,BLACK	NAC0248SUR	EA	83.25 USD	1 EA	83.25 USD
28 of 32	WAVEWORKS,18DX36W LATERALFILE,FREESTANDING,THREE DWR,M ETAL	WW1836LFF3M	EA	467.10 USD	4 EA	1,868.40 USD

Fax Page 4 of 4

29 of 32	CASEGOODS,LOCK CORE & KEY,BLACK,NO 002	NCCB002	EA	7.20 USD	10 EA	72.00 USD
30 of 32	CASEGOODS,LOCK CORE & KEY,BLACK,NO 003	NCCB003	EA	7.20 USD	1 EA	7.20 USD
31 of 32	SURCHARGE	TARIFF SURCHARGE	EA	460.00 USD	1 EA	460.00 USD
32 of 32	RECEIVE, DELIVER & INSTALL DURING NORMALBUSINESS HOURS	FI INSTALLATION	EA	2,770.00 USD	1 EA	2,770.00 USD
	ı					
			Tota	al	19,485	.35 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu.	Prairie View A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to Payables@pvamu.edu P.O. Box 519 MS 1311 Prairie View, TX 77446-0519
Invoice must include the PO/Reference number shown above.	United States